
















































 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 







’ ’ ’



















48
80







∑( )



!







( )

5 6
( )













2

X

Y

Z

X

Y

Z

1

X

Y

Z

X

Y

Z

5,6

Z

Y



2

X

Y

Z

X

Y

Z

1

X

Y

Z

X

Y

Z

5,6

Z

Y



"# = "$% × &'*%.+,-/0

"$% = 10.3 × 4 × 5%

"$"$%
6$5%4





"7 = 0.3"$
"$ = "$% × &'*%.+,-/0

"$% = 10.3 × 4 × 5%

"7"$"$%
6$5%4



’



ձチᐜ᭤ࡆᘬᙇᛂຊᗘࡢ⟬ฟ ղチᐜ᭤ࡆᅽ⦰ᛂຊᗘࡢ⟬ฟ

ճᒁ㒊ᗙᒅࢆ⪃៖ࡓࡋチᐜ್ࡢపῶ

㛤ጞ

᭱ᑠࡿ࡞࡜チᐜ್ࡢ㑅ᐃ

⤊஢



898:

898: ≦ 2
>? ≦ 5.0

255 − 6.6 C>? − 5.0D 5.0 < >? ≦ 25
898: > 2

>? ≦ 10G
255 − 3.3 CG >? − 10D 10G >? ≦ 25

K = !3 + IJLIM

?9.5 ≦ O
23,000 CO?DL ?16 ≦ t ≦ ?9.5



± ±



A A

Y

Z



  

zu-rib S

zu-panel S

zl-panel T

yl-panel U

y-panel V

yu-rib V

Y

Z

yu-rib

yl-panel

y-panel

Y

Z

zu-ribzu-panel zl-panel



| | | zu-panel| | WX-YZ[|

| | | zu-rib| | WX-YZ[|
| | | zl-panel| | WX-YZ[|

| | | zu-panel| | W-\]^_`|
| | | z-ribl| | W-\]^_`|

| | | zl-panel| | W-\]^_`|
| | | zu-panel| | W`-\]^_`|
| | | zu-rib| | W`-\]^_`|
| | | z-panel| | W`-\]^_`|

Y

Z

yu-rib

yl-panel

y-panel

zl-panelzu-ribzu-panel

1 2 3

4 5

7 8 9

6



c d + c d ≤



48
80





P=hj − h$ + h
hj = km$
h$ = o × mqm$

hsh$m$mq

H
V

M

LV,LH:

HRy

M



48
80





ARz

Z

X

A

X

Y

R

A

Z

Y

Rz

R

A

X

Y

R

A



± ±

A

X

Y

R

A
Rz

Z

X

My

Sz

N

MS

N

Z

Y

σ My Zy

τ Sz A

σ M Z

τ S A

Z

Y



48
80



Pvw =  xw ×  { }v ×  {~a 
PvL =  xL ×  ~ � × 8:   � 0.31��:Pv =  Min(Pvw PvL)

�]w
�]L
�]∅w

 ��\] ( ��\] =  ��W) ��W �:� :��
�:8:



q w w ×  { �v ×  {~�
q ×  �v ×  {~�
q + ×  � × 8�:

   qv =  Min (qvw qvL qv+)  ���] 0.7 ×  ��W  ��] 0.5�F: × 5:
5: = 3.35 × 10� × & �24,L × C�: 60D�/

   �� 0.31��:8�: 0.5 × π × �L

�]w
�]L
�]+
�]∅w∅L ���] ��W �:� :��] :���:5:8�:



T =Tx1 + Tx2
S=�(Sy2+Sz2)

c T� d c s d

���
���

��W
��W



A A

B

B

Tx2

My

+

Tx1

M

Sz

Z

X X

Y

S

A-A B-B

+





× ×

×

× ×

× ×



× ×

×

× ×

× ×



× ×

×

× ×

× ×



× ×

×

× ×

× ×







32.7







32.7







30.9











32.8
180.4



 

 

 

 

 

 

 

 

 

 

 

 

 

 





3

M







































 ! "
. + .



#

























$ % &

$ % &















' ( + ' ( ≤















l

$ &





#





$ & $ &













































 









M



2

M



3

M

M



2



3









’ ’ ’













CL

CM





-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-D2(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-D3(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-F2(mm)

( D )

( CL )



-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-F3(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-N1(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-D1(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-D2(mm)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-D3(mm)

( D )

( CL )



-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

( D )

( CL )

-20

-15

-10

-5

0

5

10

15

0 50 100 150 200

O
.P
.(
m
)

1D-DINAS Ss-N1(mm)

( D )

( CL )





’

’’

’
’

’
’

’

’

’

’









•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•





M









•
•

• • • • •

• • • • •

•
• •



•
•

• •

• • •

•
•

•
•

•
•



•
•

Ω

•

• • • • • •

•



•
•

•
• • •

•
•

• •

•
• •

• • •

•

•
• •

• • •

• • •



•
•

• • •

• • • • •

•
•



•
•

•
• • •

•
•

• • •

• • •

•
•

•
•

R
C

R
C



•
•

•
• • •

•
•

•
• • •

•
•

•
• • •

R
C

R
C



•
•

•
• • •

•
•

•
• •



•
•

•
• • •

•
•

•
• •

R
C



•
•

•
• • •

•
• •

• •

• • •



•
• •

• • •

•

•
• •

•
•



•
•

•
• • •

•
•

•

•
• •

•
•

•
• •

• •

• • •



•
•

• • • •

• • • • •

•
•

• •

•
•

•



•
•

•

•
•

•
• • •

•
•

•

•
• •

•
•



•
• •

• •

• • •



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





















’

’’

’
’

’
’

’

’

’

’



















’









































�

�

�

�

�



�



�



�



�



�



























































































�

�

�





•

•

•

•

•

•

•






















































































